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Total No. of Questions: 26  Total No. of Pages: 12 
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150 
fo"k; %fo"k; %fo"k; %fo"k; % mPp xf.krmPp xf.krmPp xf.krmPp xf.kr    

Subject: MATHEMATICS  

(Hindi & English Version) 

le; % 03 ?k.Vs  iw.kk±d % 100 

Time : 03 Hours  Maximum Marks :100  

ffffunsZ’k%& unsZ’k%& unsZ’k%& unsZ’k%&         

    ¼1½¼1½¼1½¼1½    lHkh iz’u vfuokZ; gSaAlHkh iz’u vfuokZ; gSaAlHkh iz’u vfuokZ; gSaAlHkh iz’u vfuokZ; gSaA    

    ¼2½¼2½¼2½¼2½    iz’u i= esa nks [k.M gSa [k.M ^^v^^ vkSj [k.M ^^c^^Aiz’u i= esa nks [k.M gSa [k.M ^^v^^ vkSj [k.M ^^c^^Aiz’u i= esa nks [k.M gSa [k.M ^^v^^ vkSj [k.M ^^c^^Aiz’u i= esa nks [k.M gSa [k.M ^^v^^ vkSj [k.M ^^c^^A    

    ¼3½¼3½¼3½¼3½    [k.M ^^v^^ esa fn;s x;s iz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSa] izR;sd iz’u 5 [k.M ^^v^^ esa fn;s x;s iz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSa] izR;sd iz’u 5 [k.M ^^v^^ esa fn;s x;s iz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSa] izR;sd iz’u 5 [k.M ^^v^^ esa fn;s x;s iz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSa] izR;sd iz’u 5 

    vad dk gSAvad dk gSAvad dk gSAvad dk gSA    

    ¼4½¼4½¼4½¼4½    [k.M ^^c^^ esa iz’u Øekad 6 ls 26[k.M ^^c^^ esa iz’u Øekad 6 ls 26[k.M ^^c^^ esa iz’u Øekad 6 ls 26[k.M ^^c^^ esa iz’u Øekad 6 ls 26    rdrdrdrd    vkarfvkarfvkarfvkarfjd fodYi fn;s x;s gSaAjd fodYi fn;s x;s gSaAjd fodYi fn;s x;s gSaAjd fodYi fn;s x;s gSaA    

    ¼5½¼5½¼5½¼5½    iz’u Øekad 6 ls 10 rd izR;sd 2 vad dk gSAiz’u Øekad 6 ls 10 rd izR;sd 2 vad dk gSAiz’u Øekad 6 ls 10 rd izR;sd 2 vad dk gSAiz’u Øekad 6 ls 10 rd izR;sd 2 vad dk gSA    

    ¼6½¼6½¼6½¼6½    iz’u Øekad 11 ls 14 rd izR;sd 3 vad dk gSAiz’u Øekad 11 ls 14 rd izR;sd 3 vad dk gSAiz’u Øekad 11 ls 14 rd izR;sd 3 vad dk gSAiz’u Øekad 11 ls 14 rd izR;sd 3 vad dk gSA    

    ¼7½¼7½¼7½¼7½    iz’u Øekad 15 ls 21 rd izR;sd 4 vad dk gSAiz’u Øekad 15 ls 21 rd izR;sd 4 vad dk gSAiz’u Øekad 15 ls 21 rd izR;sd 4 vad dk gSAiz’u Øekad 15 ls 21 rd izR;sd 4 vad dk gSA    

    ¼8½¼8½¼8½¼8½    iz’u Øekad 22 ls 26 rd izR;sd 5 vad dk gSAiz’u Øekad 22 ls 26 rd izR;sd 5 vad dk gSAiz’u Øekad 22 ls 26 rd izR;sd 5 vad dk gSAiz’u Øekad 22 ls 26 rd izR;sd 5 vad dk gSA    

Instructions: 

 (1) All questions are compulsory. 

 (2) Question paper has two Sections :– Section “A” and Section “B”. 

 (3) In the Section “A” Question Nos. 1 to 5 are Objective type. Each question 

 carries 5 marks. 

 (4) In the section “B” Question Nos. 6 to 26 has Internal option. 

 (5) Question Nos. 6 to 10 carries 2 Marks Each. 

 (6) Question Nos. 11 to 14 carries 3 Marks Each. 

 (7) Question Nos. 15 to 21 carries 4 Marks Each. 

 (8) Question Nos. 22 to 26 carries 5 Marks Each. 
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[k.M [k.M [k.M [k.M & ^^v^^& ^^v^^& ^^v^^& ^^v^^    
Section – “A” 

iz-1 lgh fodYi pqudj fyf[k, %& (1××××5=5) 

 
(i) ;fn 

ax

1

6x

2

a)6)(x(x

3x

+
+

−
=

+−
rks a dk eku gksxk%&  

 (a) 1     (b) 2 

 (c) 3     (d) 4 

 

 (ii) ;fn tan–1x – tan–1y = tan–1A rks A dk eku gksxk%& 

 (a) x – y     (b) x + y  

 (c) 
xy1

yx

+

−
    (d) 

xy1

yx

−

+
 

 

 (iii) lery xy, yz rFkk zx dk lehdj.k Øe’k% gSa %& 

 (a) z = 0, x = 0, y = 0  (b) x = 0, y = 0, z = 0 

 (c) y = 0, z = 0, x = 0  (d) x = 0, z = 0, y = 0 

 

 (iv) ;fn lfn’k k̂3ĵ2îa +− rFkk k̂5ĵ6î3 −+ ijLij yEc gksa rks a dk 

eku gksxk%& 
 (a) 9     (b) 16 

 (c) 25     (d) 36 

 

 (v) fcUnq (a, b, c,) dh x– v{k ls U;wur; nwjh gS %& 

 (a) 22 cb +     (b) 22 ba +  

 (c) 22 ac +     (d) 222 cba ++  

 

 Choose the correct options:–  

 
(i) If 

ax

1

6x

2

a)6)(x(x

3x

+
+

−
=

+−
then the value of a is :–  

 (a) 1     (b) 2 

 (c) 3     (d) 4 

 

 (ii) If tan–1x – tan–1y = tan–1A then the value of A is :– 

 (a) x – y     (b) x + y  

 (c) 
xy1

yx

+

−
    (d) 

xy1

yx

−

+
 

 

 (iii) The equation of the plane xy, yz and zx are respectively:– 

 (a) z = 0, x = 0, y = 0  (b) x = 0, y = 0, z = 0 

 (c) y = 0, z = 0, x = 0  (d) x = 0, z = 0, y = 0 
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 (iv) If vector k̂3ĵ2îa +− and k̂5ĵ6î3 −+ are mutually 

perpendicular then the value of a is :– 
 (a) 9     (b) 16 

 (c) 25     (d) 36 

 

 (v) The shortest distance of point (a, b, c) from x– axis is:– 

 (a) 22 cb +     (b) 22 ba +  

 (c) 22 ac +     (d) 222 cba ++  

 

iz-2 fuEufyf[kr dFkuksa esa lR;@vlR; fyf[k, %& 

(i) f=Hkqt dh rhu ekf/;dk }kjk fu/kkZfjr lfn’kksa dk ;ksx 'kwU; gksrk 

 gSA 

(ii) ;fn k̂4ĵ3î2a −+=
r

rFkk k̂4ĵ2îb ++=
r

 gS rks b .a
rr
dk eku 

 'kwU;  gksxkA 

(iii) lglaca/k xq.kkad dk eku &1 vkSj $1 ds e/; gksrk gSA  

(iv) eax dk n okW vodyu gS an eax. 

(v) lfn’k k̂3î −  dh fnd dksT;k,¡ Øe’k% 
10

3
,

10

2
,

10

1
gSaA 

Write true/ false in the following statements :–  

(i) The sum of three vectors determined by the medians of 

 a triangle directed from the vectors is zero. 

(ii) If k̂4ĵ3î2a −+=
r

and k̂4ĵ2îb ++=
r

then the value of b .a
rr

 

 will be zero. 

(iii) The value of co–relation coefficient lies between –1 and 

+1. 

(iv) The nth derivative of eax is an eax. 

(v) The direction cosine of vector k̂3î −  are 
10

3
,

10

2
,

10

1
 

respectively. 

(1××××5=5) 
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iz-3 fjDr LFkkuksa dh iwfrZ dhft,%& 

(i) 
5

4z

3

1y

2

1x +
=

−
=

+
ljy js[kk fcUnq ------------------- ls gksdj tkrh gSA 

(ii) ,d pj f=T;k okys xksykdkj xqCckjs dh f=T;k 3 lseh- gS] mlds 
vk;ru ifjorZu dh nj -------------------- gksxhA 

(iii) ;fn y = xn gks rks y dk n ok¡ vodyu ---------------------------- gksxkA 
(iv) y – v{k ds lekUrj lery dk lehdj.k ---------------------------- gksxkA 
(v) vfHkyac ds :i esa lery dk lfn’k lehdj.k ---------------------- gSA 

Fill in the blanks:– 

(i) Straight line 
5

4z

3

1y

2

1x +
=

−
=

+
passes through the point 

…………. . 

(ii) A spherical Balloon is having a variable radius of 3 cm, 

then rate of change of volume will be ……….. . 

(iii) If y = xn then the nth differentiation of y will be …………. .  

(iv) Equation of plane parallel to y – axis will be …………. . 

(v) Vector equation of the plane in normal form is ………….. . 

(1××××5=5) 

iz-4 fuEu iz’uksa esa izR;sd dk ,d 'kCn@okD; esa mÙkj nhft,% 
(1) la[;kRed lehdj.k ds okLrfod ewy Kkr djus dh lcls izkphu 

fof/k dk uke fyf[k;sA 
(2) 0.23452 E07 + 0.31065 E07 dk eku fyf[k,A 
(3) lehdj.k x3 – x – 2 = 0 dk ewy fdl varjky eas gS\ 
(4) vkafdd fof/k esa leyEc prqHkZqt fu;e dk lw= fyf[k,A 
(5) U;wVu jSQlu fof/k }kjk fdlh la[;k dk oxZewy Kkr djus dk lw= 

fyf[k,A 
Write the answer in one word/sentence each. 

(1) Write the name of Ancient method to find out the real root 

of a Numerical Equation. 

(2) Write the value of 0.23452 E07 + 0.31065 E07. 

(3) In which interval does the root in the equation x3 – x – 2 = 

0 lie? 

(4) Write the formula of Trapezoidal rule in numerical 

method. 

(5) Write down the formula of Newton Raphson method to 

find out the square root of a number.    

(1××××5=5) 
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iz-5 lgh tksM+h cukb,% & 
    ^^v^^     ^^c^^ 

(1)   dx 
x

1
    (i) tan–1x 

(2)   dx
x1

1
2+

   (ii) cot –1x 

(3)    tan x dx    (iii) 
a

elog

ax
 

(4) dx
x1

1
2+

−    (iv) log x 

(5)      (v) log sec x 

      (vi) sin–1 x 

Match the column: 

    “A”     “B” 

(1)  dx
x

1
    (i) tan–1x 

(2)  dx
x1

1
2+

    (ii) cot –1x 

(3)    tan x dx    (iii) 
a

elog

ax
 

(4) dx
x1

1
2+

−    (iv) log x 

(5)      (v) log sec x 

      (vi) sin–1 x 

(1××××5=5) 

[k.M [k.M [k.M [k.M & ^^& ^^& ^^& ^^cccc^^^^^^^^    
Section – “B” 

iz-6 ;fn P rFkk Q ds funsZ’kkad Øe’k% ¼4] &1] 7½ rFkk ¼3] &3] &1½ gSa] lfn’k 

PQ  Kkr djds bldk ekikad Kkr dhft,A     
If the coordinates of P and Q are respectively (4, –1, 7) and  

(3, –3, –1), find the vector PQ  and compute its magnitude.    

vFkokvFkokvFkokvFkok@@@@OR 

lfn’k ( )ĵ2î −  ds lekUrj ,dkad lfn’k Kkr dhft,A         

Find a unit rector parallel to the vector ( )ĵ2î − . 

¼2½¼2½¼2½¼2½ 

 ∫

 ∫

 ∫

 ∫
 dx ax

∫

 ∫

 ∫

 ∫

 ∫
 dx ax

∫
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iz-7 ;fn k̂ĵ λî 2a ++=
r

 rFkk k̂ 2ĵ 2î 4b −−=
r

ijLij yacor~ gksa rks 

vfn’k λ dk eku Kkr dhft,A      

If k̂ĵ λî 2a ++=
r

and k̂ 2ĵ 2î 4b −−=
r

 are perpendicular to 

each other then find the value of scalar λ.    

vFkokvFkokvFkokvFkok@@@@OR 

lfn’k ĵî +  ij lfn’k ĵî −  dk iz{ksi Kkr dhft,A 

Find the projection of Vector ĵî −  on Vector ĵî + .    

¼2½¼2½¼2½¼2½ 

iz-8 ;fn k̂ĵ 3î 2a +−=
r

rFkk ĵ 2î 3b +=
r

 gks rks b x a 
rr
dk eku Kkr 

dhft,A    

If k̂ĵ 3î 2a +−=
r

 and ĵ 2î 3b +=
r

 then, find b x a 
rr

.    

vFkokvFkokvFkokvFkok@@@@OR 

ml xksys dk lfn’k lehdj.k ,oa dkrhZ; lehdj.k Kkr dhft, ftldk 

dsUæ ¼&1] 0] 1½ ,oa f=T;k 2 gksA         

Find the Vector equation and Cartesian equation of the circle 

whose centre is (-1, 0, 1) and radius is 2. 

¼2½¼2½¼2½¼2½ 

iz-9 
dx

ee

1
   

x-x +
dk eku Kkr dhft,A     

Evaluate     dx
ee

1
   

x-x +
.    

vFkokvFkokvFkokvFkok@@@@OR 

dx 1 - x   x 2     dk eku Kkr dhft,A 

Evaluate        dx 1 - x   x 2 . 

¼2½¼2½¼2½¼2½ 
 ∫

 ∫

 ∫

 ∫
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iz-10 

2x49

dx
   

−
 dk eku Kkr dhft,A    

Evaluate 
2x49

dx
   

−
.     

vFkokvFkokvFkokvFkok@@@@OR 

  dx log
x

e  dk eku Kkr dhft,A 

Evaluate     dx log
x

e . 

¼2½¼2½¼2½¼2½ 

iz-11 nks js[kkvksa ds fnd vuqikr Øe’k% 2] 3] 6 o 1] 2] 2 gSaA buds chp dk 

U;wudks.k Kkr dhft,A    

Find the acute angle between two lines whose direction ratios 

are 2, 3, 6 and 1, 2, 2 respectively.    
vFkokvFkokvFkokvFkok@@@@OR 

fl) dhft, fd ,d ?ku ds fod.kkZsa ds chp dk dks.k 






−

3

1
cos 1  gksrk 

gSA 

Show that the angle between any two diagonals of a cube is 








−

3

1
cos 1 . 

¼3¼3¼3¼3½½½½ 

iz-12 fcUnqvksa A (2, –3, 4) o B (–5, 6, 7) dks feykus okys js[kk[k.M dks O;kl 

ekudj cuk;s x;s xksys dk lehdj.k Kkr dhft,A     

Obtain the equation of the sphere describe on the joining of 

the point A (2, –3, 4) and B (–5, 6, 7) as a diameter.     

vFkokvFkokvFkokvFkok@@@@OR 

k dk eku Kkr dhft, ;fn js[kk,¡aA 

k 2

3z

320

2y

3

1x −
=

−

−
=

−
 rFkk 

4

6z

3

5y

k 2

1x

−

−
=

−
=

−
 ijLij yEcor~ gSaA 

Find the value of k, if lines. 

k 2

3z

320

2y

3

1x −
=

−

−
=

−
and 

4

6z

3

5y

k 2

1x

−

−
=

−
=

−
are mutually 

perpendicular. 

¼3¼3¼3¼3½½½½ 

 ∫

 ∫

 ∫
 ∫
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iz-13 lfn'k fof/k ls fl) dhft, fd& 

cos (α - β) = cos α. cos β + sin α. sin β    
Prove by vector method that- 

cos (α - β) = cos α. cos β + sin α. sin β. 

vFkokvFkokvFkokvFkok@@@@OR 

fl) dhft, fd v)Zo`Ùk dk dks.k ledks.k gksrk gSA¼lfn’k fof/k ls½         
Prove that the angle in semi-circle is right angle. [By Vector 

Method].  

¼3¼3¼3¼3½½½½ 

iz-14 ;fn k̂ 2ĵ 3î +−  vkSj k̂ ĵ 4î 2 ++  ds lfn’kksa ds chp dk dks.k θ gks 

rks fl) dhft, fd & 

  
741

115
  θ sin =     

Show that the angle between the vectors k̂ 2ĵ 3î +− and 

k̂ ĵ 4î 2 ++  is θ. Prove that– 

  
741

115
  θ sin =     

vFkokvFkokvFkokvFkok@@@@OR 

fl) dhft, fd %&  

  ( ) ( ) ( ) 0bacacbcba =+×++×++×
rrrrrrrrr

         

Prove that :– 

  ( ) ( ) ( ) 0bacacbcba =+×++×++×
rrrrrrrrr

 

¼3¼3¼3¼3½½½½ 

iz-15 

( ) ( )9x 2x

3x
2 −+

+
 dks vkaf’kd fHkUuksa esa O;Dr dhft,A      

Resolve 
( ) ( )9x 2x

3x
2 −+

+
 into partial fractions.    

vFkokvFkokvFkokvFkok@@@@OR 

( )  x1

x
4

3

−
dks vkaf’kd fHkUuksa esa O;Dr dhft,A             

Resolve  
( )  x1

x
4

3

−
 into partial fractions. 

¼¼¼¼4444½½½½ 
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iz-16 fl) dhft, fd & 

65

56
sin

12

5
tan

5

3
sin 111 −−− =+       

Prove that – 

65

56
sin

12

5
tan

5

3
sin 111 −−− =+  

vFkokvFkokvFkokvFkok@@@@OR 

;fn 
2

ztanytanxtan 111 π
=++ −−−     gks] rks fl) fdft;s fd    & & & & 

1zxyzxy =++              

If 
2

ztanytanxtan 111 π
=++ −−− ,  then prove that - 

1zxyzxy =++  

¼¼¼¼4444½½½½ 

iz-17 izFke fl)kar ls cos x dk vody xq.kkad Kkr dhft,A      
Differentiate cos x by First Principle.    

vFkokvFkokvFkokvFkok@@@@OR 

;fn )xsin(loglogy ee=  gks] rks 
dx

dy
    Kkr dhft,A         

If )xsin(loglogy ee= , then find 
dx

dy
. 

¼¼¼¼4444½½½½ 

iz-18 ;fn xyy ex −= rks] fl) fdft, fd & 

  
( )2xlog1

xlog2

dx

dy

−

−
=     

If xyy ex −= , prove that - 

  
( )2xlog1

xlog2

dx

dy

−

−
=     

vFkokvFkokvFkokvFkok@@@@OR 

;fn     xlogxy 2=  gks rks] fl) dhft, fd & 

        
24

4

x

2

xd

yd −
=              

If  xlogxy 2=  then, prove that – 

  
24

4

x

2

dx

yd −
=  

¼¼¼¼4444½½½½ 
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iz-19 fl) dhft, fd Qyu 1003x3xx 23 −+− lHkh okLrfod la[;kvksa ds 
fy;s o/kZeku gSA      
Prove that the function 100x3x3x 23 −+− is increasing in R.    

vFkokvFkokvFkokvFkok@@@@OR 

Qyu ( ) 912x4xxf 2 +−=     ds fy, vUrjky ds fy, vUrjky ds fy, vUrjky ds fy, vUrjky [ ]3  ,0  esa jksys ds izes; 
dh tk¡p dhft,A             
Verify Rolle’s theorem for the function  ( ) 9x12x4xf 2 +−=  in 

the interval [ ]3  ,0 . 

¼¼¼¼4444½½½½ 

iz-20 fl) dhft, % lglaca/k xq.kkad ρ dk eku -1 ls  +1 ds chp gksrk gSA     
Prove that : Value of correlation coefficient ρ lies between -1 to 

+1.    

vFkokvFkokvFkokvFkok@@@@OR 

fuEukafdr ewY; ;qXeksa ds fy, lg&izlj.k Kkr dhft, %& 
(1, 6), (2, 9), (3, 6), (4, 7), (5, 8), (6, 5), (7, 12), (8, 3),    

(9,17),   (10,1).   

Find covariance for the following data :- 

(1, 6), (2, 9), (3, 6), (4, 7), (5, 8), (6, 5), (7, 12), (8, 3),       

(9,17),   (10,1). 

¼¼¼¼4444½½½½ 

iz-21 ;fn lekJ;.k js[kk,¡ Øe’k%  06y9x2 =+−  rFkk 01y2x =+−  gksa 

rks] lg laca/k xq.kkad dh x.kuk dhft,A    
Given the regression lines as 06y9x2 =+−  and 

01y2x =+−  respectively, calculate the correlation coefficient.    

vFkokvFkokvFkokvFkok@@@@OR 

fuEufyf[kr vkadM+ksa ls y dk eku Kkr dhft, tcfd  x = 12.  
Js.kh x y 

ek/; 7.6 14.8 

ekud fopyu 3.6 2.5 

lglaca/k xq.kkad     ρ = 0.99         

Estimate the value of y from the following data when x = 12. 

Series x y 

Mean 7.6 14.8 

Standard Deviation 3.6 2.5 

Coefficient of correlation ρ = 0.99  

¼¼¼¼4444½½½½ 
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iz-22 
fcUnq (2, -1, 5) ls js[kk 

11

8z

4

2y

10

11x

−

+
+

−

+
=

−
ij [khaps x, yEc dk 

ikn rFkk yEc dh yEckbZ Kkr dhft,A      
Find the foot of the perpendicular drawn from the point           

(2, -1, 5) to the line 
11

8z

4

2y

10

11x

−

+
+

−

+
=

−
. Find also the length 

of the perpendicular.      

vFkokvFkokvFkokvFkok@@@@OR 
,d xksyk fcUnqvksa (1, –3, 4), (1, –5, 2), (1, –3, 0) ls xqtjrk gS] 
bldk dsUæ lery x + y + z = 0 ij fLFkr gSA xksys dk lehdj.k Kkr 
dhft,A 
Find the equation of the sphere passing through the points    
(1, –3, 4), (1, –5, 2), (1, –3, 0) and its centre lying on the plane 
x + y + z = 0. 

¼¼¼¼5555½½½½ 

iz-23 fuEukafdr dk eku Kkr dhft, %& 

  
3x

 xsoc  . x sin

0x

lim

→
     

Evaluate :-  
3x

 xsoc . x sin

0x

lim

→
    

vFkokvFkokvFkokvFkok@@@@OR 
fl) dhft, fd 

  
1 x

1x
    

2

x
    f(x)  

2

=

≠







=
tc

tc
  

x = 1 ij vlrr gSA             

Show that 
1 x

1x
  

when

when
  

2

x
    f(x)  

2

=

≠





=   

Is discontinuous at x = 1. 

¼¼¼¼5555½½½½ 

iz-24 fl) dhft, fd %& 

 
4

dx
cosxsinx

sinx π
=

+
 

Show that :- 

 
4

dx
cosxsinx

sinx π
=

+
    

vFkokvFkokvFkokvFkok@@@@OR 
o`Ùk [kaM x2 + y2 = a2  ds o`Ùk dk lEiw.kZ {ks=Qy Kkr dhft,A         
Find the total area of circle whose first quadrant is x2 + y2 = a2. 

¼¼¼¼5555½½½½ 

∫
π2 

0 

∫
π2 

0 
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iz-25 
vody lehdj.k 4y

dx

dy
= dks gy dhft,A      

Solve differential equation :-  4y
dx

dy
=     

vFkokvFkokvFkokvFkok@@@@OR 

fl) dhft, fd lehdj.k 0 9y 
dx

yd
2

2

=+  dk gy y = 4 sin 3x gSA         

Verify that the solution of 0 9y 
dx

yd
2

2

=+  is y = 4 sin 3x. 

¼¼¼¼5555½½½½ 

iz-26 52 rk’kksa dks vPNh rjg QsaVh gqbZ xìh esa ls ;kn`PN;k 1 rk’k fudkyk 
tkrk gSA blds bDdk ;k ckn’kkg gksus dh rFkk u gksus dh izkf;drk Kkr 
dhft,A    
A card is drawn at random from a well shuffled pack of 52 

cards. Find the probability that it is either an ace or a king and 

probability it is neither an ace nor a king.    

vFkokvFkokvFkokvFkok@@@@OR 

;fn ,d yhi o"kZ dk ;kn`fPNd p;u fd;k x;k gks rks bl o"kZ eas 53 
jfookj gksus dh izkf;drk Kkr dhft,A         
Find the probability that a leap year selected at random will 

contain 53 Sundays.  

¼¼¼¼5555½½½½    
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